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CBT Sample assessment model answers

Indirect Tax (IDRX) FA2016

Sample assessment 1




Task 1  (6 marks)
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Task 1  (continued)
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Task 2  (9 marks)
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Task 2  (continued)
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Task 3  (5 marks)
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Task 4  (9 marks)
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Task 4  (continued)
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Task 5  (7 marks)
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Task 6  (7 marks)
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Task 7  (17 marks)
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Task 7  (continued)
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Task 8  (10 marks)
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(a) Which one of the following amounts must appear on the simplified VAT invoice issued (3 marks)
tothe business?

Abusiness makes the following mixed supply:
standard-rated goods for £185 plus VAT of £37; exempt goods for £28.

(b) May the business issue a simplified invoice for this sale? (1 mark)

Yes
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Abusiness incurs inputtax n refation o its exempt, its zero-rated and its standard-rated supplies. The input
taxthatitincurs in relation to its exempt supplies is more than the “de minimus amount.

() Complete the following statement regarding the business’s input tax for this period. (3 marks)

e business canrectam fismputar

secause tmares  [pomptsupplies s more e “ge s smourt Rl

Abusiness delivers goods to ts customer on 11 February and issues a VAT invoice on 27 February.

(d) Whatis the tax point for this supply? (1 mark)

1 February

27 February

Abusiness despatches goods to ts customer on 15 July.

(e) Whatis the latest date by which it can issue a VAT invoice? Select one date from the. (1 mark)
calendar.
13Aug T

I
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Abusiness operates the annual accounting scheme and always has more output tax than input tax.
The end ofits VAT period is 30 September

(a) Identify whether each of the following statements is true or false. (2 marks)
The due date for the VAT return is 31 October [False |+ ]
Businesses that chose to pay VAT monthly must make atleast nine VAT [True

payments in any calendar year.

Abusiness operates no special accounting schemes. Itinvoiced a standard-rated supply of £1,500 plus
VAT on 1 February offering 1 month credit, but wrote the debt off on 15 June. Allthe conditions for claiming
bad debt relief have been met by the business.

(b) Whatis the earliest opportunity for the business to claim bad debt refief? (3 marks)

In its VAT period ending 31 March

In its VAT period ending 30 June

In ts VAT period ending 30 September

In ts VAT period ending 31 December
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(a) Which one of the following corrections should the business make in Box 1 of its current (3 marks)
VAT return?

Add£122

Add£234

Deduct£122

Deduct£234

Alarge business has a Box 6 figure on its current VAT retum 0f£1,355,000. It has discovered a net ermor in a
previous VAT period of £14,025. It has corrected this error on the current VAT retur without separate
notification to HIRC.

(b) Which of the following will be the consequence for the business? (2 marks)

HHRC will regardthis as.

the correct action so there will be no further consequence.

the incorrect action and issue a surcharge liability notice.

a deliberate error and issue a penalty.





image8.png
(c) Complete the following statement. (2 marks)

Abusiness’s accountant needs to keep up-o-date with changes in VAT regulations and pracice to comply

with the ethical principle of [professional competence. |52

() Identify whether each of the following statements about VAT rules and practice is true orfalse. (2 marks)

Abusiness which fals to submita VAT retum may have to pay an amount which HURC
‘assesses to be due. Froe

Abusiness which recsives a surcharge liabilty notice issued by HURC must

immediately pay a surcharge to HIRC. [Z v |
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Abusiness supplies a standard-rated item at a price of £780 excluding VAT. The customer pays within 10
days and takes advantage of the 5% prompt payment discount offered for such prompt payment

(a) How much output tax should the business include in its VAT account for this supply? (2 marks)

& [1s20

Amanufacturer supplies  standard-rated tem at a VAT-inclusive price of £520.

(b) How much output tax should the manufacturer include in its VAT account for this. (2 marks)
‘supply?

= [eess

Abusiness has recorded a credit note from a supplier, showing VAT of £96, when it should have been £69.
‘Currently, the business's VAT account shows outputtax of £5,490 and input tax of £1,340.

(€) When the error is corrected, which one of the following figures will be correct? (3 marks)

Inputtax £1,313

Inputtax £1,367

Outputtax£5,463

Outputtax£5,517
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(a) Which of the following should be your response to the business owner? (1 mark)

Ifyou insistthen | will respect your authority and ignore the matter.

Both VAT regulations and my ethical principles mean | cannot ignore the matter

‘The business owner has agreed that both the sales account and the VAT account need o be corrected.

(b) Calculate the figure to be included in Box 1 of the VAT return, once any necessary corrections to the
ledger accounts have been made. (2 marks)

e[ 2855623]

(€) Calculate the figure to be included in Box 4 of the VAT return, once any n
ledger accounts have been made. (2 marks)

essary corrections to the

e[ 1ssr281

(d) Calculate the figure to be included in Box 6 of the VAT return, once any n
ledger accounts have been made. Your figure should be in whole pounds only. (2 marks)

essary corrections to the

B 161416]
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(a) Enter the relevant figures into the online VAT return for the period ended 30 June.
Do not leave any box blank. (13 marks)

Please note: Enter values in pounds sterling, including pence, for example 1000.00

VAT due in this period on sales and ofher outputs (Box 1)

VAT due in this period on acquisitions from ofher EC|
member states (Box2)

Total VAT due (the sum of boxes 1 and 2) (B0x 3)|

VAT reclaimed in the period on purchases and other inputs

(including acquisitions from the EC) (Box 4) 2099087

¢
1

NetVAT to be paidto HIl Revenue & Customs or reclaimed by|
You (diference between boxes 3 and 4) (Box 5)

%
g

value

Total value of sales and all other outputs excluding any VAT- 275300
Include your Box 8 figure. (Box 6)

Whole pounds only

“Total value of purchases and all other Inputs excluding any VAT- o175
Include your Box 9 figure. (Box 7)

Whole pounds only

Total value of all supplies of g00ds and related costs, excluding any VAT
to other EC member states. (Box 8)

U

Whole pounds only

Total value of all acquisitions of goods and related costs, excluding| 28784
‘any VAT, from other EC member states. (B0x 9)|

Whole pounds only
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(b) Calculate the values that will be shown online when you submit the VAT return for the following
boxes. If a repayment is due, use a minus sign in Box 5. (@ marks)

“Total VAT due (the sum of boxes 1and 2) (Box 3) 6303075

NetVAT to be paicto HM Revenue & Customs of reclaimed by T8
Jou (ciference between boxes 3 and 4) (Box5)
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(a) Complete the following email to the Finance Manager of the business.

8 marks)

o Finance Manager
From: Accounting Technician
Date:  Thursday 16 July

Subject  Completed VAT retum

Please be advised that | have just completed the online VAT return for the period ended 30 June.

The amountorVAT [paradie

B e =

5425220

Please anange [far suiaenttnds T permit R T drect aeBi our accountan Wednesday 12 AUgust

Kind regards,
Accounting Technician
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(b) How should you respond to the Finance Manager's instruction? (2marks)

“OK, I think | know the answer so | will advise the Sales Director accordingly.”

“I don't know the answer but | will acvise the Sales Director that tis always bestto charge VAT at 20%."

“I don't know the answer so  cannot advise the Sales Director without guidance from you.”
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(@) () How much will the business have to pay HMRC in respect of output tax for its period (2 marks),
of non-registration? The business has chosen to treat the amount charged as VAT-
inclusive.

£ [ro00

(@) Must the business's customers reimburse the business for the output tax now (1 mark)
payable to HMRC?

(|

(b) Complete the following statement by choosing one option. (2 marks)

To find outinformation about registering on 3 special scheme for VAT, a business should, first of al,

call HURC on the General Enquiries helpine.

Iook at the HIRC website.

wiite to HURC.
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() Complete the following statement by choosing one option. (1 mark)

Voluntary registration for VAT is available to any business.

with taxable tumover above the registration threshold.

that makes at least some taxable supplies.





